Lesson 10c
Make Irab to the following verb sentences and put the Tashkeel on its words:
أعرب الجمل الفعلية التالية وشكل الكلمات:
	                                      
زرع الفلاح الشجرة

	
The farmer planted the tree


	
زرع الفلاح شجرة

	
The farmer planted a tree

	
زرع الفلاح الشجرت؟ن

	
The farmer planted the trees2

	
زرع الفلاح شجرت؟ن

	
The farmer planted trees2

	
زرع الفلاح الشجرات

	
The farmer planted the trees3+

	
زرع الفلاح شجرات

	
The farmer planted trees3+



	
زرع الفلاح؟ن الشجرة

	
The farmers2 planted the tree


	
زرع الفلاح؟ن شجرة

	
The farmers2 planted tree

	
زرع الفلاح؟ن الشجرة

	
The farmers3+ planted the tree

	
زرع الفلاح؟ن شجرة

	
The farmers3+ planted tree



	
زرع الفلاح؟ن الشجرت؟ن

	
The farmers2 planted the trees2


	
زرع الفلاح؟ن الشجرت؟ن

	
The farmers3+ planted the trees2



	
زرع الفلاح؟ن الشجرات

	
The farmers2 planted the trees3+


	
زرع الفلاح؟ن الشجرات

	
The farmers3+ planted the trees3+



